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1 kozE%: LA X\, 1 (£65x%3)
(1) 3%(17416)-36-0.9 (2) {52—(|8+3>+%}><4—3|
(1) 59
(2) 37
| . 5 .
(3) 2§_O75X|§—035X06 (3) 8%
=7.3,13.7 ,3_7x4x13x20X3
3°478 2075 3x3x8x7x5
2 Kol _Ith i s EReOL X0, 2 (12864 (B4)&7H)
(1) 73em+2.6m=[__Jom (2) |.54kg+32109=] Jkg
(1) 333
(2) 4.75
(3) 0.92km*+ |.3ha—2800a=] Ja
1km2=100000, 1ha=100a (3) 6530
(4) 4.5L—720mL—32dL=__ L (4) 0.58
1mL=0.001L, 1dL=0.1L
3 ROHEZE, (3L TLEX, 3 (84X 4)
(1) 25X37xX4 (2) 52x25
—13X4X25 (1) 3700
=13x100 (@) 1300
(38) 118x7.62—18x7.62 (4) 10616 (3) 762
=(118—18)x7.62 =(100+6) x16
=100%7.62 =100x16+6%16 (4) 1696
=1600+96
A RO IhTIIFAEERDT X\, 4 (884x%3)
(1) ((]1+8)%x9=135 (2) ((Ix4—640)=-7=40 0 ”
(2) 230
(38) 72x[]=12x[]=300 (2 > JIXIIR LEKANY & 7) (3) 5
(72-12) %[ ]=300, 60x[ |=300, [ ]=300+60




